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POLITICAL SCIENCE
( Honours Generic/Regular Course )

Paper : POL-HG/RC—4016/4026/4036

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer the questions from any one Option

Answer either in English or in Assamese

OFTION—A
Paper : POL-HG/RC-4016

( Introduction to International Relations }

1. Answer the following as directed : 1x10=10

wore frarnpzs e Se frm
{a) Who created world systems theory?

oy e 5001 QI R TR 2
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(b)

{c)

(d)

(e}

(g}

(h)

24A1754

(2)

Name one liberal thinker of International
Relations.

HEsaBy TR e Aot el W
foret 1 .

eﬁuo. wrote the _uoow...‘ The Origin ow.. the
Family, Private Property and the State?

The OQrigin of the Family, Private
Property and the State Ri{s &S%4 A
fofRfRe 2

When did the mnnosn_.ﬁoﬂ_m War start?
28 frrs cofom ws Cafew 2

Who used the term ‘Cold War’ for the first
time? o

‘Meat ¢&° RS AU IQ@ (TR TR
TR 7

How many member States are there in the
European Union?

2T AT AT BT A R 2

dﬁz.v was the main architect of India’s
foreign policy?

SR (I NS 391 Berafdn = =nfes 2

What wm the full form of NATO?
NATOF 7f Foitht & 2

{ Continued )

( 3)

{ij Write one objective of India’s foreign
policy.
SR LA SRR it T

{ij The Panchsheel Agreement was signed

between India and China,
( Write True or False )

e (wm o Tw% )
3. Answer the following questions : 2x5=10
oo e e
differences between

faj Write two
International politics and International

relations.

e e W SrsalE R e
o1 o1 “Nef o

(b} Define Cold War.
et ad T fw )

fc) What do Yyou mean by policy of
non-mmmﬁdonﬂv
coB)-Fazers Ay Fera & 32

{d} Write the names of ™o ﬁEE_S_,m
associated with the liberal approach.
St YRS ORS &S To fomve wI
fardi 1

{e) Mention two reasons for disintegration of
Soviet Union.

cafera Ko e g e Toes 4 |
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(4)

3. Write short notes on any jfour from the
following : 5x4=20
e AR | R e eRER e oY G
foran
{a) Feminism in international relations

HRAET TS TR
(b} Dependency theory
fr&aRerel oy
fc) Treaty of Versailles
g2 b
{d} European Union
oA A
{e} India as an emerging power
ST i T Wi
{fi Scope of international relations
RICH kR S S R S
4. Answer any four from the following questions :
10x4=40
ory 2P o1 R A oifRe e fam
{a} Explain Morganthau’s realist approach to

(b)

24A/754

the study of international relations.
AWAFA AR NI HICTRLR A
TESACH W I

What is neo-liberalism? Discuss the

differences between classical liberalism
and neo-liberalism.

7 TrmelEm 7 g SmmeRm wE T
ERASIITA EE I LIRS 4T |

{ Continued )

(c)

(d)

(e}

{g}

(h)

249A/754

{8)

Analyse the causes and consequences
of the Cold War. 5+5=10

oo Tae PR OF FAFTZ ROge 340 |

Discuss about the post-Cold War
developments in the World.

e RNree Toared TEE TICR ST F4

Explain the determinants of India’s
foreign policy.

ST (AT e PR 3¢ 4w |

What do you mean by India’s foreign
policy? Discuss the principles of India’s
foreign policy. 3+7=10
oot (e A P B o@mo wrer
Qi AT TR Scam=) 47 |

Critically analyse the role and relevance of
Non-Aligned Movement.

o-fRarers sweR TRI WF aERReH
HAATSIGF R SA9CHRY |

Discuss Kenneth Waltz’s theory of
Neo-realism. How is it different from
classical realism? Explain. 6+4=10

(FAY TROHY [ IR TFCG WA 97 |
250 IRRAT AT Z (@I ]9, TW =4 |
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1. Answer the following questions :

(12)

OPTION—C

Paper : POL-HG/RC-4036

( Politics of Globalization )

1x10=10

SO 2T e

(@)

(b)

{c)

(d)

fe}

24A1754

Name a proponent of liberal approach to
globalization.

Feurrra Turai® qitesie smafs e W o |
Where is the headquarters of the World
Bank located?

4 @ 7y o e SRiES 7

In which year was WTO founded?
WTO @ e Tifre (=it ?

Who wrote the book, Giobalization and its
Discontents?

Globalization and its Discontents A4
AR (I I FRRA 7

Who came up with the theory of ‘Invisible
hand’?

‘o 2ol a3t falEe o

{ Continued )

il
()
(h}
i)

G

( 13 )

Mention any one criticism on globalization.
AT ST WA 41 R O b1 TN
TrEy T4

Name any one social movement that has a
global spirit.

AR o 99 R @ @b AR W
- foran

What is the full form of WSF?

WSF3 »f Tohl &2

Name one anti-globalization activist.

Ryme-RE® T g = o

Mention one common demand of global
social movements.

APy e oieweRE <51 Sveldm Wl
TrEs

2. Answer the following questions in very short :

2x5=10

& epprEd oS 5y Ted

(a)

(v)

24A/754

Write on Bretton Woods Conference.

@ T AT eorE o

When and where was the IMF
established?

IMF ¢afom i 37 o Cafem 7

{ Turn Over )




{ 14 ) ( 15)

(c/ Mention two social impacts of fe) Globalization in developing countries

globalization. S o R

Fired ¥5! A Ao Srey 747 | .

{fi Radical approach to globalization
(d) Write two advocates of dependency theory. frarma e/ iRt
| .

Rl T OFT o 2 AW ot 4. Answer the following questions : 10x4=40
fe} Mention two objectives of the World Bank. , T epTRR e e

R 3 wH1 Sowem TrE) 0 . fa) What is globalization? Discuss the various

dimensions of globalization.

e 7 2 R e frrm e s

3. Write short notes on (any four)} : 5x4=20 -
o9 (B Foran (R e wifB)
Or / a3y
{a} Roie of WTO in the global economy :
S Q 5 Discuss the alternative perspectives of
e fee ¥ . globalization.
i w_ﬁﬂm_ﬁﬂ _w_ﬂmﬂ mﬁw mﬁ_mﬂ_ﬂ |
{b) Effects of globalization on sovereignty of € N = SEEAD ==
Nation State {b) Discuss the msgjor debates on
wfS-qB AHCETR oS R seeTz globalization.
PR soRe 1% fRedorgz S 3441 |
fc) Foreign direct investment Or / %l

R aers R

Elaborate the various issues concerning
human security in the context of
globalization.

2B e o MR YA TAET AR IR S
Foifde fAfen APTR 3R o

{d) Transnational Cooperation

24A/754 { Continued ) 24A/754 { Turn Over }




( 16 )

fc) What is World Bank? Discuss about the
functions and role of the World Bank.

Rt e 1 7 Recaees wad o $iRa sroorcd
SIS 4 |

Or/ &<y

Discuss the major challenges to
globalization in contemporary times.

TN e WA TR @R ¥y
AT SIS 39 |

{d) Critically examine the consequences of
globalization.

TR RO AR =R 351 |
| Or / wer

Discuss the alternative perspectives on the
nature of giobalization. :

m&ﬁu%xﬁiaﬁﬂ«mﬂmﬁﬂ?mﬁ
A 37 | _

* &
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